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Elasticities Approach to the Balance of Trade





The effect of exchange rates on international trade will depend on the elasticities of demand and supply for goods.





Elasticity of demand:


ed = % change in quantity / % change in price





total revenue = PQ, as P changes total revenue will depend on elasticities





ed  > 1 , elastic, PQ and P move in opposite directions


    < 1 , inelastic,  "		"	 same		"


    = 1 , unit elastic, PQ unaffected by P





How can a won depreciation cause the Korean balance of trade to fall (bigger deficit or smaller surplus) instead of increase?


* low elasticities cause J-curve effects


* over time elasticities grow and trade balance increases


�
Why should elasticities be low in short-run?





Currency Contract Period: period following a devaluation when contracts negotiated prior to the devaluation must be settled


* contracts written in domestic currency will be unchanged


* contracts written in foreign currency will rise in value





If exports are invoiced in domestic currency and imports are invoiced in foreign currency, then a devaluation of the domestic currency causes the balance of trade to fall.





What if both export and import contracts are invoiced in the foreign currency?


*depends on whether initial surplus so (X>M) and trade balance increases, or initial deficit (X<M) and trade balance decreases





Table 9.1 summarizes results 





Necessary condition for initial J-curve drop in trade balance is foreign-currency-denominated imports


�
Pass-Through Period: period following devaluation when goods prices may adjust to new equilibrium and exchange rate changes may be "passed through" to customers


* if demand for imports is initially inelastic, then the new higher prices caused by domestic currency depreciation will cause imports to rise in value (price and total revenue both rise) and exports will not rise as foreign currency prices of domestic exports fall





Effects of devaluation will depend on where the inelasticities are found





Figure 9.3 and Table 9.2 summarize results





Necessary condition for initial J-curve drop in trade balance is inelastic domestic demand for imports








Absorption Approach to the Balance of Trade





Trade balance is difference between what the economy produces and what it spends (absorbs)





If  Y = C+I+G+(X-M)





then (X-M) = Y-(C+I+G)





A surplus country produces more than it absorbs


  deficit   "	   absorbs     "     "    produces





A devaluation of the domestic currency when there is unemployment may stimulate production and increase the trade surplus or reduce the deficit





A devaluation with full employment will create inflation as foreigners increase demand for domestic goods but no more can be produced in the short run.








Monetary Approach to the Balance of Payments





Balance of payments flows have implications for money supplies.  


*With fixed exchange rates, money will flow between countries and prices will change to maintain equilibrium.





Draw the line in the balance of payments so only official monetary transactions are below the line and we have the impact of the balance of payments on international reserves.  


*International reserves are part of base money-the base for expansion of the money supply.





A simple MABP model:





L = kPY


L is money demand


k is fraction of national income held as money


P is the price level


Y is real GDP





M = R + D


M is money supply


R is international reserves


D is domestic credit





P = EPF


P is domestic price level


E is exchange rate


PF is foreign price level





L = M for equilibrium, or


L = kEPFY


kEPFY = R + D


or in percentage changes:





� EMBED Equation.2  ���





or with fixed exchange rates:





� EMBED Equation.2  ���





with managed float have reserve flows and exchange rate changes:





� EMBED Equation.2  ���





*inflationary monetary policy causes reserve outflows or BOP deficits


*a country will eventually run out of reserves to support such a deficit and a devaluation of the exchange rate will occur


*can cure a BOP deficit by restrictive monetary policy rather than exchange rate change--a devaluation is a substitute for reducing money growth


*higher domestic income is associated with improvement in the BOP
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